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QUESTION 1

A BIG-IP Administrator explicitly creates a traffic group on a BIG-IP device.

Which two types of configuration objects can be associated with this traffic group? (Choose two.)
A. Pool Members

B. Virtual Addresses

C. iRules

D. VLANS

E. Application Instances

Correct Answer: BE

QUESTION 2

A BIG-IP Administrator is performing maintenance on the active BIG-IP device of an HA pair. The BIG-IP Administrator
needs to minimize traffic disruptions. What should the BIG-IP Administrator do to start the maintenance activity?

A. Reboot the BIG-IP device.

B. Move resources to a new Traffic Group.
C. Force the BIG-IP device to standby.

D. Disable switch ports of the BIG-IP device.

Correct Answer: C

QUESTION 3

How is MAC masquerading configured?

A. Specify the desired MAC address for each VLAN for which you want this feature enabled.

B. Specify the desired MAC address for each selflP address for which you want this feature enabled.

C. Specify the desired MAC address for each VLAN on the active system and synchronize the systems.

D. Specify the desired MAC address for each floating selflP address for which you want this feature enabled.

Correct Answer: A
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QUESTION 4

A BIG-IP Administrator adds new Pool Members into an existing, highly utilized pool. Soon after, there are reports that
the application is failing to load for some users. What pool level setting should the BIG-IP Administrator check?

A. Availability Requirement
B. Allow SNAT

C. Action On Service Down
D. Slow Ramp Time
Correct Answer: D

Option ABC is a global configuration, has nothing to do with the new pool member, select D after excluding

QUESTION 5

When configuring a pool member\\'s monitor, which three association options are available? (Choose three.)
A. inherit the pool\\'s monitor

B. inherit the node\\'s monitor

C. configure a default monitor

D. assign a monitor to the specific member

E. do not assign any monitor to the specific member

Correct Answer: ADE

QUESTION 6

A BIG-IP Administrator plans to resolve a non-critical issue with a BIG-IP device in 2 weeks. What Severity level should
be assigned to this type of F5 support ticket?

A. 4
B.2
C.3
D.1

Correct Answer: A

QUESTION 7

Which two can be a part of a pool\\'s definition? (Choose two.)
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A. rule(s)

B. profile(s)

C. monitor(s)

D. persistence type

E. loadbalancing mode

Correct Answer: CE

QUESTION 8

Users report that traffic is negatively affected every time a BIG-IP device fails over. The traffic becomes stabilized after a
few minutes.

What should the BIG-IP Administrator do to reduce the impact of future failovers?
A. Enable Failover Multicast Configuration

B. Set up Failover Method to HA Order

C. Configure MAC Masquerade

D. Configure a global SNAT Listener

Correct Answer: C

QUESTION 9

Assume the bigd daemon fails on the active system. Which three are possible results? (Choose three.)
A. The active system will restart the bigd daemon and continue in active mode.

B. The active system will restart the tmm daemon and continue in active mode.

C. The active system will reboot and the standby system will go into active mode.

D. The active system will failover and the standby system will go into active mode.

E. The active system will continue in active mode but gather member and node state information from the standby
system.

Correct Answer: ACD

QUESTION 10

A 8IG-IP Administrator configures a Virtual Server to load balance traffic between 50 webservers for an ecommerce
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website Traffic is being load balanced using the Least Connections (node) method. The webserver administrators report
that customers are losing the contents from their shopping carts and are unable to complete their orders.

What should the BIG-IP Administrator do to resolve the issue?
A. Change Default Persistence Profile setting to cookie

B. Change Load Balancing method to Ratio (member)

C. Change Default Persistence Profile setting to sipjnfo

D. Change Load Balancing method to Ratio (node)

Correct Answer: A

QUESTION 11

A BIG-IP Administrator wants to add the ASM Module to an HA pair of BIG-IP devices. The BIG-IP Administrator has
already installed a new Add-On License on both devices in the HA pair. What should the BIG-IP Administrator do next to
use the module?

A. Provision the new module on both BIG-IP device\'s

B. Synchronize both BIG-IP devices

C. Reboot both BIG-IP devices

D. Reactivate the Licenses on both BIG IP devices

Correct Answer: A

QUESTION 12

A BIG-IP Administrator is checking the BIG-IP device for known vulnerabilities. What should the 8IG-IP Administrator
upload to BIG-IP iHealth for further analysis?

A. QKView
B. EUD
C.UCs
D. tcpdump

Correct Answer: A

QUESTION 13

Assume a BIG-IP has no NATs or SNATSs configured. Which two scenarios are possible when client traffic arrives on a
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BIG-IP that is NOT destined to a self-IP? (Choose two.)

A. If the destination of the traffic does not match a virtual server, the traffic will be discarded.

B. If the destination of the traffic does not match a virtual server, the traffic will be forwarded based on routing tables.
C. If the destination of the traffic matches a virtual server, the traffic will be processed per the virtual server definition.

D. If the destination of the traffic matches a virtual server, the traffic will be forwarded, but it cannot be loadbalanced
since no SNAT has been configured.

Correct Answer: AC

QUESTION 14

A BIG-IP Administrator needs to check the memory utilization on a BIG-IP system. Which two methods can the UIG IP
Administrator use? (Choose two.)

A. Run the tmsh show/sys memory command

B. Run the tmsh show/sys traffic command

C. Go to Statistics > Module Statistics > Traffic Summary in the configuration utility
D. Go to Statistics > Module Statistics > Memory in the configuration utility

E. Go to System > Disk Management in the configuration utility

Correct Answer: AD

QUESTION 15

A BIG-IP Administrator needs to remove a pool specific health monitor. There is a pool named Best Pool with two
members, one named Best pool member and one named Best pool member2. In the Local Traffic section of the
administrative GUI, which stops should the BIG-IP Administrator take to remove a pool level monitor?

A. Pool > Pool List > Best Pool > Members > Health Monitors

B. Nodes > Node List> Best _pool_memberl > Heath Monitors

C. Monitors > Monitor Name> Instances

D. Pool > Pool List> Best Pool > Health Monitors

Correct Answer: D
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